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30100 VWA 10 540/ 54, 54 54|B 104
Y3002 =4 (KM 40 20,542 810, 648 184} 40kg
31200 L a0 83l 59 59 32 185
vso4 AMREE 2] 432 54 54 54 8d
31800 1% 9 /o B NI 8 3,200 8 8 76 0%
34400 b b 80 11,017, 162 130 130 A 80kg
35100 WAMFA 2 1,037 648 648 648 BN | 2kg

Y3033 ZEHHHL 50 4,104 86 86 76 BN 50kg
36600 7~ ERE | D 3,024 65 59 59 50kg
33410 Y=—LxAx I | 5%
34764 A=A KT yva 151 55, 150 130 103 76 ) 503 4¢
34930 LA ) B 5 1,782, e 119 19k 154

34800 j’o< ’ 4 5, 108 119 119 119 43% b
46108 X AIOHE | 5 4,277 270 270, 248 1673 7
21011 AT L—% C [ aases 50 3917 1, 2704
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30100 75002 A B 10 1,296 378, 378, 270! 4 —2
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130300 AB T ] 100 7,668 861 756 648 104 — A
133500 HTHI R 322 32 2418
33810 #HEN 8 2,592 65 65 65 MAE 40
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34400 b b [ 1298 7432‘ 432 a3 [3r—=
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(34100 BK L 20 5,746 1,436 1,436 1, 436[8 45—
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33600 SEU 7 0 432 216 216 216
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38400 A DXL 10 2,311 27 27 17,

138521 S L@ UHF L 3 1,296 43 43 4318

41410 LEL 15 9,828 9,828 9,828  0,828|7

410 L=y | 12 3,110 32 22 22[7

46108 EBNEOLE B b 12 1,814 540 54 11|
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